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No | uisk X T HhFRTEM A - (R (B %) i &
1| hfERE BA #4 BETERMFER 13-3 Eih 375.27 | 15,225 1,609, 908
2 | HERE BA #4 HEBSETER B R 19 Eih 331.03 | 11,591 1,420,119
3 | MR BA e 1t BSETBA 8 758 R 20-5 Eih 247.44 | 8,664 1,061, 518
4 | B BA 4 1t BT BA 8 7 5B R 20-6 Eih 220.15 1,708 944, 444
5 | MR BA e 1t B BT BA #8758 R 20-8 Eih 695.79 | 24,362 2,984,939
6 | HHs BA #5 Tt BSETBA 8 8 R 23-2 Eih 141. 46 5,795 606, 863
T | HfEs BA 45 Tt BSETBA 8 7B R 23-3 Eih 174.39 6, 626 748,133
8 | W BA #5 Tt BT B 8 B R 24-2 Eih 212.25 8, 695 910, 553
9 | Hhs BA 45 Tt BSETBA 8 7B R 24-5 Eih 254.03 | 10, 406 1,089, 789
10 | R BA #5 Tt BSETBA #8248 Eih 426.99 | 17, 491 1,831,787
11| s BA #5 T BSETER 8 7B R 24-11 EiMh 59.94 | 2,455 257,143
12 | mh% BA 4 I BSETEA B A 24-13 Eih 281.66 | 11,538 1, 208, 321
13 | mEhs BA 5 e BSETER 8 738 R 25-4 Eih 381.06 | 15,610 1,634,747
14 | mh% BA 4 it BSETER s 7B R 25-11 Eih 158.57 6, 496 680, 265
15 | R BA 5 It BSETEA 8 A 25-12 Eih 169. 50 6, 943 127,155
16 | R BA 4 I BSETEA 7B A 25-13 Eih 178. 51 1,312 765, 808
17 | mhs BA 5 Tt BT BA #8758 R 34-2 Eih 527.49 | 21,608 2,262, 932
18 | HERH BA ## T B35 ETEA f81 =F B 40 1-2 Eih 752.89 | 34,309 4, 306, 531
19 | iR BA #5 Ttk B T B 450 = B #50 3-2 EiMh 735.86 | 33,533 4,209, 119
20 | iERS BA # Tiff %5 BT B #8157 B 4 3-3 EiMh 447.5 | 20,393 2,559, 700
21 | ks BA #4 1t S ETBA R =~ BA £ 10 P 333.00 | 12,876 1,428, 570
22 | HERE BA #4 Tt S ETBA R B 40 111 Eih 527.06 | 20, 380 2,261, 087
23 | R BA #4 Tt ST BA f = B 450 11-2 EiMh 347.89 | 13,452 1,492, 448
24 | R BA 44 Tt 5T BA #  BA 450 12-2 Eih 245.92 9,509 1,054, 997
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25 | RS BA 5 Tt 5T BA # = BA 480 12-3 Eith 38. 80 1,737 221,936
26 | RS BA 4o T BSETEA R BA 4 12-4 Eith 137.75 6, 165 787,930
27 | HERs BA 4 Tt BT BA # = BA 450 131 23 62. 72 2,807 358, 758
28 | 1fRs BA T B ETER 2 =F BA# 16-1 23 538.42 | 20,820 2,309, 822
29 | HERs BA 4 Tt BB T BA #5 = BA 450 27-2 23 93. 56 3,710 401, 372
30 | mERE BA #4 RS ETEA M BA 4 33 23 287.67 | 10,930 1,234,104
31 | R BA 4 Tt BES T BA # = BA £ 39-1 23 254.97 9, 688 1,093, 821
32 | RS BA #4 Tt B35 T BA #5 = BA 450 39-2 23 112.90 4,290 484, 341
33 | RS BA #5 Tt BT BA 5 S BA 40 43-2 Eith 262.16 9, 961 1,124, 666
34 | HERE BA #4 Tt BT EA # = BR 4 47 Eith 575.05 | 21,850 2, 466, 965
35 | RS BA #5 Tt 5T BA 78  BA 44 49 Eith 356.27 | 12,285 1,528, 398
36 | mERE BA #4 Tt BT BA 4 F A 4 50 Eith 943.89 | 35,864 4,049, 288
37 | HERE BA #5 Tt S ETBA #8  BA 45 51 FEAE 235.00 8,929 1,008, 150
38 | mERE BA #4 T BFET B+ BA 40 53-3 Eith 246. 68 9,939 1,058, 257
39 | mERs BA #4 Tt B T BA # 7 BA 450 541 Eih ,912.99 | 77,078 8, 206, 727
40 | HERE BE Tt RS BT BA 49 =F BA 4 56-3 Eih 393.69 | 15,863 1,688, 930
41 | R BA e 1 S ET BA 4 B 450 57 Eih 802.34 | 32,328 3,442,039
42 | 1R BA 4 Tt B35 T BA # = BA 450 62-3 Eih 159. 49 6, 426 684, 212
43 | 1R BA e 1t M5BT BA #8  BA 45 62-4 Eih 257.01 | 10,355 1,102, 573
44 | 1ERE BA 4 Tt 5T BA #9  BA 450 62-5 Eih 194. 85 7, 851 835, 907
45 | HERE BA 45 Tt BT BA 4+ F BA 450 62-6 Eih 393.07 | 15,838 1,686, 270
46 | HERE BA #5 T B BTER #5=F BA # 631 Eih 151. 65 6,110 650, 579
47 | HERE BA 45 Tt BT BA 4 S BA 480 63-2 Eih 214.24 8, 632 919, 090
48 | HERE BA #5 Tt B HTBA 5 F BA 450 64-6 Eih 300.36 | 12,102 1,288, 544
49 | BERSF BA #5 Tt BT BA 0 A 40 647 Eih 355.10 | 14,308 1,523, 379
50 | 1fMs BA ## T B BTER 28 =F BA # 64-8 Eih 8.19 330 35,135
51 | RS BA 44 Tt B35 T BA #5 = BA 450 64-9 Eih 9.31 375 39, 940
52 | MMk BA 4 Tt B35 T BA #9 = BA #8651 Eih 185.58 6, 851 796, 138
53 | R BA 44 Ttk B35 T BA #5 = BA #8652 Eih 399.54 | 14,750 1,714,027
54 | MM BA 4 Tt B35 T BA #5 = BA #5653 Eih 262. 98 9,709 1,128,184
55 | HER% BA 44 Tt 5 BT BA #8 7 BA 45 66 Eih 498.87 | 18,417 2,140, 152
56 | miMs BA 4 Tt 5T BA #9 = BA 480 79-3 Eih 443.61 | 16,377 1,903, 087
57 | MR BA #5 Tt BETEA 4 BA 4 116-1 Eih 297.73 | 13,568 1,703,016
58 | 1fMEs BA # HERSETEA f=F BA e 116-7 Eith 104.90 4,780 600, 028
59 | mERs BA #4 1t S ETBA R~ BA £ 116-8 23 98.25 4,471 561, 990
60 | mERE BA #4 1t BSETEA 5 BA 4 116-13 Eih 98. 26 4,478 562, 047




